Practice Exam 2

1. Given the following extensive form game, find the pure and/or mixed strategy Nash Equilibria. 
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2. Consider a market with two firms and the following attributes

demand curve:




Q = 120 – 4P

marginal costs:




MC = 0 for both firms

fixed costs:





FC = 0 for both firms

a. If the two firms are Cournot competitors, what are the corresponding quantities and profits for each firm if the game is played once? (Derive mathematically)
b. If the two firms decide to collude and charge the monopoly price, what are the corresponding quantities and profits for each firm?
c. If one firm decides to cheat on this agreement (splitting the monopoly quantity), what quantity will that firm produce? What will be the corresponding profits for both firms?
d. Suppose the 2-firm game is played an infinite number of times. Over what range, if any, of the discount factor, (, can an equilibrium where each firm produces half of the monopoly output be supported as a subgame perfect equilibrium?
3. Find each player’s maxmin strategy. Find each player’s and minmax strategy. Compare the payoffs for each strategy. 

	
	L
	R

	T
	2, -1
	1, 2

	B
	1, 0
	4, -1


4. Consider a two-firm market entry game in which the profits of each firm depend on (1) the state of the economy, (2) whether or not the firm enters the market, and (3) whether or not the other firm enters the market. Assume that the probability of a good economy is 0.6. 
The sequence of events for this game is as follows. (1) Firm 1 receives an accurate forecast regarding the economy, so it knows whether the economy will be good or bad. Firm 2 does not receive this information; however, Firm 2 is aware of the probabilities of a good (pG = 0.6) and bad (pB = 0.4) economy. (2) Firm 1 decides whether or not to enter the market. Finally, (3) Firm 2 observes Firm 1's entry decision, and after observing this decision, Firm 2 decides whether or not it will enter. The payoffs for all possible contingencies of this game are as follows:

Economy

Firm 1


Firm 2


Outcome
Good


Enters


Enters


(5,5)

Good


Enters


Stays out

(20,0)

Good


Stays out

Enters


(0,20)

Good


Stays out

Stays out

(0,0)

Bad



Enters


Enters


(-5,-5)

Bad



Enters


Stays out

(10,0)

Bad



Stays out

Enters


(0,10)

Bad



Stays out

Stays out

(0,0)

Given the probabilities of a good economy and a bad economy, solve for the equilibria. Your solution should include either an extensive form or normal form diagram of the game. 

5. Two people are involved in a dispute. Person 1 does not know if person 2 is strong or weak; she assigns a probability of α to person 2 being strong. Person 2 is fully informed. Each person can either fight or yield. Each person’s preferences are given by a payoff of 0 if she yields (regardless of what the other player does; and a payoff of 1 if she fights and her opponent yields; if both fight, then their payoffs are (-1,1) if person 2 is strong and (1,-1) if person 2 is weak. Find the Nash Equilibria if α > ½ and if α < ½.

6. Study all in class problems and homework assignments. 
